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Honors Algebra 2: Unit 1 Review of Exponents — Worksheet # 1
Simplify. Your answer should contain only positive exponents.
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Name

Ho_nors Algebra 2
Unit 1 - Worksheet #2

‘Jdicol Review. Simplify Completely.
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21. Rationalize the Denominator and Simplify if possible:
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Honors Algebra 2
Unit 1 — Rational Exponents Worksheet #3

Evaluate without using a calculator.

1. V1 2. Y125 3. ¥Y~1000 4. —3/64
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Simplify the expression. Give the answer in the form the problem is given.
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Rewrite the expression using rational exponent notation.
48. /7 49. (V6)? 50. (V=21)° 51. /—x
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ﬁewrite the expression using radical notation.
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plex Numbers
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Part Ii: Plot the following points on the complex plane (label each using the corresponding
letter). Be sure to draw and label the axes.
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Par’r IV: Find the distance between the following points from above. £

(1) Points A and B:_ YD T+ (cear (2) Points C and D: JT%E Jio% 92 A
) Points Aand . N2H_ V[BR+(o (4) Points B and F: __\Jla) S
(5)Points Eand G: __ 1D (6) Points Fand H: __ |1 ()

7} Points E anclir:. V125 VT B/ Foma iR )

Part V: Simplify the following expressions. (Remember, no calculator!)
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Part VI: Add or subtract the following complex numbers.
(1) (3-2i)+(-5+5i) (2) (-6+7i)+(5-9i)
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I soluhons as reol or |mog|nory
¥

2.5x2-500=0 3.2x2+40=0
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Part2: More practice with operations and complex conju
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~ Using the graph below solve the quadratic equation: 2 —dr—3=-2x+1
; &Y
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Y40

5] Using the graph below solve the quadratic equation: 2 8 +10=-3x" +12¢-11
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Given the graph above what values of x. make the statement ax” +b-x+c=m-x+d true?
a. xX=em cix=0c,g

x=a,p : d x=b,g

Using the graph belo;v solve the quadratic equation: x +x-6=0
&

Using the graph below solve the quadratic equation: x° —2x— 6= -3
&y
et - -.,..“7 N S —




Honars Alg 2 Name

Unit 1 — Solving Quadratics by Factoring

Worksheet #7 Date Pd

. Factor completely. So\Oe
1% —16=0 2. 4x* +22x-12=0 3. ¥’ +14x+49=0
[Yr D(x-W)=0 225 W)= 0 (X DX+ =0
: = = O g \C
ot A R SRl IR s

e S0 2 — =)

232 (x-W) + 1(x-4) = O

\
e
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6. 3x>+18x*+27x=0
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' 2 »=0
(22D x-u) =0 ERC SR T 3 e
BEEIES X U3 X Y=0 e
= e
AR A= 9y =36 —=i0 8le5% —125x° =6 9. 6x>+7x-10=0

> () -9 D=0
(YD) W) =©
(DD D= a
K=o k=24 ook L
10. x" —

6x°—x+6=0

CHAD 1000 BR(axd)- U@ ¥D)=0

(NG =©
D) (L -D - =0

*—,—\ \\L’,\ ) *7L0
13. 2x*+21x+10=0

(ax s V) (X 10 =0
%= -

-
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23 (U2 27% =7) =0

2 (U D= =€
g\ =
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=3 (x> 25)=©

=0
253 (e DHD=0 (BZSICTY
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= = e

Y=0 x=-5, X

11. 4x° +10x>—28x—70=0 12. x*=169=0

(D) (1=12)= O

(a2 1) (2= C e S T

232D 2xD) =C ik

14. x*-3x*+2=0
(2D 2-)=0
(D) () H-D=0

155 Cpiiabalon = 4=

(@D ez ©

YZ-2-=0 L/Eﬂu’% (3“/* ’D ()(2')‘ @
el 8 L e, U
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o Y=Y e mE Al
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7. (x+3)y+6=18 8 (2x+6)'—8 =24 9 | 22 _3_7
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Honors Algebra 2 Unit 1- Quadratics Revisited Worksheet #8

Error Analysis:
Describe and correct the error Sarah made when attempting to solve by square roofs.

Problem: (x + 2)2= 36

Sarah’s Process: Correct Process:
2)2=36

(x +2) ma._; i’—-\%—zo

(x+2)° = V38 w2 =+
X+ 2=6 r ) TRE
x=6+2andx=6-2 yr22le + X <
x = 8and 4 =) e S

She. Sheldd Neoe 2 in St of P socae coct Sigmn

So k13 e cobec Pran (ot /]

Solving Quadratics by Completing the Square

Steps for Solving Quadratics by Completing the Square (works only when a = 1):
1. Move constant to the other side by adding or subtracting

2
2. Add (%j to both sides
3. Use number diamonds or perfect square trinomials to factor left side.

4. Take the square roofs of both sides.
5. Solve for x.

I X2—16x-8 =0 28 X2+ 4x+5=0
-l x s - 4 (o Uy Y = 544
L%:/\%%::}ar )(_\_’l =l
K= ?tLQFi x=_ = AEL
3. X2—12x+10=0 ' 4, x2-8x+18=0
XQ—\QMQ_&:"O—AZ& 7(’2,?)({«)_(3;,]%_{—1(_9
(X—)*=2e A =2
Y- - ‘L\FJTQ X_\/i = ‘_‘Liﬁ—

= e - R
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Honors Algebra 2 Unit 1- Quadratics Revisited Worksheet #8 k.
St X2+ 14x+ 5=-5 6. 2x2-8x +20/="-6

W2 4 Uy 47 = _]Di’ﬁ Y qy+10=-3 .

()({—“D"—, B Y2 = iRyl
(£-207= =9
= ’_7iJ?ﬁ = Q‘ia\
Defend:
Mattis trying to solve the following problem by completing the square:
x2—-18x+6=0

He believes he has got the answer and wants to compare it with his classmate, Marcus. He
says,‘Hey Marcus, | got x = 9 + 5V3 and 9- 5v/3, what did you get?” )19-4?)(4_;5:",-(.2&_&

(x-9)>="75

Marcus replied, “hmm that’s weird | got x = 9 ++/75 and 9 -v/75."
Matt then says “well we both got the 9 part so we have similar thinking, lets ask Tiffany!"

Tiffany looks at their work and says *“ | got the same thing as Matt | just combined like terms
and got x = 14v/3 and 4/3.”

More confused than ever they call over Mrs. Dambrowski. She assures them that one of them
has the correct answer... .

Who is correct? Explain.

e cocteck. eCus Aud nok %fm@hﬂir—ﬂq\a
(aducal. T%QO” corrbined LnliRe deqmnmS

Error Analysis:
Describe and correct the error Emma made when attempting to solve by completing the

square.
Problem: x2+ 20x—=8=0

Emma’s Process: Correct Process:

x2+20x—8=0 0 @
3@ 4 004 I S o P G L /%%' 10O
x2+ 20x +1Q>= 8 10 4 7(23(10\01’99/:5;———
X2+ 20x + 1 18 Y- \mowa—’/‘)lo%

o SeER
e . i 2] w0 =2l
Lol e

222 - “Not Factorable”

1%
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Honors Algebra 2

Name:

Unit 1 Quadratics Revisited

WS#9

Date:

Solving Quadratics Using the Quadratic Formula

Directions: Find the discriminant and tell the number and type of solutions. Then solve each
of the following equations using the Quadratic Formula.

b —b+b* —4ac

X=

1.X2+4x-2=0

2L\)

Discriminant: 24
# of Solutions: ) (eal

LV v 1o

_y 24

QN4
ST

Y+l

Sl chibed
-

3.5x2-10x+ 18 =13
52 [Or +5=0
= (5224 A—D:O

Discriminant: (O
# of Solutions: \ read
X = \

=+ [P0

2(V)

B \lo

/

=

5.x2-4x=-13
Y2-Ux 413=0

U= JEa=4U (>
ERNCE V=

2(V)

c >

Discriminant: — (e
# of Solutions: 7 ) {rnd

X = -
DEE

Y+ (al

/

2a

Discriminant: | b

# of Solutions: 2 gl

X=3 |
L

2.4x2-8x+3=0

G2 CERUOB

2(4)

T
;'?3%’
%’q =

s

<
Y

o

A

)

o\<

Discriminant: —5(o

# of Solutions: v
XS\l

4, 6x2=-4x-10
(e %y Yy +10= o
(2 2Hr D)= O

_23EPUBE
A@Ec
2(3)

x M
.,:1—\;\]7‘5(; = ::’_l,-—/"‘
S (o
6.3x2—-2x=-2
BP- D220

22
B Eos

o
DxOE

S

Discriminant: ——QO
# of Solutions: . \mo.% ]

X 2VE
=

pe—

|



Honors Algebra 2 Unit 1 Quadratics Revisited WS#9

2 S =10 Discriminant: 772 8.8x2+ 4x+ 16 =-X2| Discriminant: -Xo8
U2 -0 # of Solutions: Y 2k GxZ+YU X +1k=0| # of Solutions:
= = \

e e N R E e 4+ V@ HE0G | ¥ 28205

s 4 2(4) -
T=EED e HldES

UE A

U 1%

Error Analysis:
Describe and correct the error Jaya made when attempting to solve using the quadratic

formula.

Problem: 7x+ 2x2—-4=3

Jaya'’s Process: Correct Process:
e 0 Sucaetie =
— SUE b c
2.
2+ [2%-4(7)(-7) 2 VO AED
2(7) S
(=)
-2 £/200
SO v b Es
2+ 10V2 L= =
3 14
-1+ 5V2 -1-5v2
e and -

TScue aidnt oaate e Q?Laai'Cm in Standad i_)oﬁrh
\neSece. \foim% e cz(@rs_r‘ck\\c Sotrmc e

Decision Making:

I have a non factorable trinomial where a'is 1 and b is odd, which method am | going to

use?  Quedsake formula

I have a factorable frinomial where a is NOT 1 and b is odd, which method am I going to

use? Qucofake QGkaJQ o %\C‘XO\“\\ Y\%,

I have a non factorable trinomial where ais 1 and b is even, which method am |going to

use? Corv\p\@tim%—\/‘ne 67010{?, o Quedsakie Sormula .
| have a binomial squared and its equal to some number, which method am | going o use?

6ciuaf e Rock rednod

|8




Honors Algebra 2
Unit | Solving Quads all Methods WS#10

Name

. Solve the quadratic equation. Find ALL solutions.

e x2+3x—§=0
4

HYZ 12X-3=0

St \[G‘J)‘«HUDC@: -2 1[92
22 Gy i
iy |1-L N>
Sheti =Hx+é
' . 3&’2@

25 e -5= O Y=
o -5)=0
)(: ’/\é ol )L:%

51 3x2=2x—54
- 2440 =0

22 [(TUBE. Q*F%Ze 2*2:0/%

Q(’:ﬂ
@ im0 Y= L’T';E
-1 £ J(DP40) \['('\”3;—(’\-0}
2.(\
4\1«67? . EpIRE
=i
9. xz—gx—%
‘ Qi e C
3 (4raDx-2)=0
X’;’\f\ + Y= 2
11. 25%2+3 = 20x

OS50 +3=0

(D% -D (5x-3)=0
e

13. 5(x+2)" -6=-16
. 5(y2) = -10
D= -2
L2 = EC lﬁ
Y= _2+\W2

2. X +x+2=0 -—\‘-"—\]CD’:.L,(‘YQ>

2D
ST e EE
Ce GeL

ARSNE 8By ) =)

b G=DR e
Y= +%=|
6.4 () 13)2 = 25_./
A — M
xx—\3:—i% % /iq’ B
X:—w’bta%

8. 12x*-5x-2=0
SR PY.E=Y
2(\2) 2

B PLe
siEn exll =y
1,

10. gx == 16:=0
C-Fx -5 =0
oy tle = D ke

Lx W= Y4
\L"-\ = X =

1oy S e s
D= -l
)& ) =%

X = -3F U

e

s AT




